635507 Identif.CD: Narex CZ

\ > i
| i
52
%
L

str. 1 od 4



635507 Identif.CD: Narex CZ
Poz Cislo Nazev M | Odkaz Norma Pozhamka Cena Ména |Nahrazuje |Nahrazuje
ice n. II. I.
1 |615120 Sroub 1 |M5x12
2 617548 Stavéci Sroub 1 | M5x8 DIN 913
3 66615112 Podkova 1 |EN25E
4 |615117 Sroub 1 | M12x30
5 66615111 Pouzdro 1 |EN25E
6 647540 Otoény nliz 2 |RB-EN25E
7 616412 Sroub 1 | M5x10
8 66615109 Smykadlo 1 |EN25E
9 |66615110 QOjni¢ni gep 1 |[EN25E
10 | 66615637 Ojnice 1 |EN25E
11 | 66615633 Ochranny plech 1 |EN25E
12 |616412 Sroub 2 |M5x10
13 |614466 Sroub 2 |M5x30
14 | 66615108 Prevodova sk 1 |EN25E
15 | 66591176 Tésnéni 1 |EN 16-E5
16 | 66614907 Lozisko 2 |625 2771 MC3
17 | 66615116 Lozisko 1 | 609 2RSR
18 | 66615114 Pistni krouzek 1 |EN25E
19 | 66615115 Jehlova klec 1 |EN25E
20 |66615113 Vystrednik 1 |[EN25E
21 592563 Pero 1 |EKK 35S
22 |66615116 Lozisko 1 | 609 2RSR
23 |614803 Pojistny krousek 1 |D26 ¢SN 02 2931
24 | 66592600 Ozubené kolo 1 |EN 25-E5
25 | 66592609 Pastorek 1 |EN 25-E5
26 |615119 Pojistny krouzek 1 |D9 DIN 471
27 614988 Kolik 1 |4méx10
28 |625545 Sroub 4 |4x25 ECO-SYN
29 |66591175 Loziskové viko 1 |MP 130

str. 20d 4




635507 Identif.CD: Narex CZ
Poz Cislo Nazev M | Odkaz Norma Pozhamka Cena Ména |Nahrazuje |Nahrazuje
ice n. II. L.
30 |66591744 Tésnici krouzek 1 |MR030
31 |66623708 Lozisko 1 |608 T1X ZZ1 MC5 E
32 | 66403849 Rotor 1 | MP 130.00; 230V
33 |66623709 Lozisko 1 |626 T1X ZZ1 MC5 E
34 | 66775320 LoZiskové pouzdro 1 [EVP 10-2H3
35 | 66594693 Vzduchovodna vlozka 1 |MP 130
36 |404302 Cep 2 |MP 130
37 | 66406527 Stator 1 |MP 030.00
38 |622080 Motorova skfin 1 |EBU 12
39 |66627019 Kartac, sada 2 ks 1 |MP 130.00
40 |66591508 Drzak kartace 2 |MP 130
41 66622070 Kondenzator 1 |JSP60OE
42 | 66406327 Tahlo predni Cast 1 |EPL 60-E5
43 | 66620191 Tahlo zadni ¢ast 1 |EBU 12
44 | 66622095 Pruzina 1 |MP 130.00
45 | 66594692 Packa 1 |MP 130
46 | 66616159 Spinac 1 |Marquardt 1247.0102
47 | 66593250 Pfichytka 1 |EV10-2
48 (618348 Sroub 2 |3.5x16
49 |66623988 Regulator 1 |Capax 7-11F
50 |66405715 Tlumivka 2 |MP 130
51 | 66595024 Pfipojné vedeni 1 [MP 130
52 | 66622063 Pfipojné vedeni 1 [MP 130.00
53 | 66622064 Pfipojné vedeni 1 |EPL 75-E5
54 | 66594700 Navlacka 1 |D9.5
55 |620440 Kapota 1 | EPL 75-E5
56 |628558 Sroub 1 |4x20 ECO-SYN
57 |66622065 Pohyblivy pFivod 1 |HO7 RN-F EURO
58 | 594683 Kli& 1|4 (P¥isl.)

str. 30d 4




Identif.CD: Narex CZ

635507

Poz Cislo Nazev M | Odkaz Norma Pozhamka Cena Ména |Nahrazuje |Nahrazuje
ice n. II. L.

59 |616042 Kli¢ 1 |2.5.2006 CSN 23 0710.1 (PFisl.)

60 |615973 Souprava sparomeérd 1 ]0.1-0,7x100 (PFisl.)

61 | 66594686 Pruzina 2 |MP 130

str. 4 od 4



